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    Section 4.7 Solutions

    
      
      Spring 2014
2. Let X be time between requests, then 
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. If m is the median time between requests, in seconds, then 
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. Solving for m, 
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d.  If c is the 80th percentile for times, in seconds, then 
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. Solving for c, 
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f. Because of the memorylessness property of exponential distributions, 
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6. Let X be the time between hits at the website, in minutes. then 
[image: image11.wmf](

)

XExp

1

:

.
a. 
[image: image12.wmf](

)

(

)

-

-

³===

15

5

500067

PXee.


b. Yes, because we would expect to wait five minutes or longer less than 1% of the time.
c. Probably not. When we observe something that would be highly unusual if a claim is true, we tend to doubt the validity of the claim.

8. Let T be the waiting time, in seconds, between emissions. then 
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b. If m is the median time, in seconds, between emissions, , then 
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. Solving for m, 
[image: image16.wmf](

)

ln..

m

=-=

1

0503466

2

 seconds. Note that the median will always be less than the mean for an exponential distribution because of the long right tail of the pdf.
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e. 
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f. Using the complement of a conditional probability and the memorylessness property of exponential distributions, 
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10. Let X be the distance, in meters, between flaws. Then 
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a. Let Y be the number of flaws per meter, then 
[image: image25.wmf](

)

(

)

EY

EX

11

3

==

, and 
[image: image26.wmf]YPoisson

1

3

:

æö

ç÷

èø

.
b. Let Y(t) be the number of flaws in t meters, then 
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, and 
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 is the probability of observing exactly two flaws in a 5 meter length of the aluminum roll.
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